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QUESTION 1

You want an Oracle Cloud Infrastructure (OCI) compute instance in your compartment to make API calls to
other services within OCI without storing credentials in a configuration file.

What do you need to do?

A. Create a dynamic group with appropriate matching rules to include the instance, and reference this group in your IAM
policy statement

B. Instances cannot access services outside their compartment

C. VM instances are treated as users. Create a user, assign the user to that VM instance, and reference the instance in
your Identity and Access Management (IAM) policy statement

D. By default, all VM instances are created with an instance principal. Reference this instance principal in your IAM
policy statement

Correct Answer: A

QUESTION 2

Which two identity providers can your administrator federate with Oracle Cloud Infrastructure? (Choose two.)
A. Microsoft Active Directory

B. Oracle Identity Cloud Services

C. AWS Directory Services

D. Google Directory Federation Services

Correct Answer: AB

References:

Oracle Cloud Infrastructure supports federation with Oracle Identity Cloud Service and Microsoft Active
Directory (via Active Directory Federation Services (AD FS)), and any identity provider that supports the

Security Assertion Markup Language (SAML) 2.0 protocol.

QUESTION 3
Which statement is true about Oracle Cloud Infrastructure Object Storage Service?
A. An Archive Object Storage tier bucket can be upgraded to the Standard Object Storage tier.

B. You cannot directly download an object from an Archive Object Storage bucket.
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C. An existing Standard Object Storage tier bucket can be downgraded to the Archive Object Storage tier.
D. Data retrieval in Archive Object Storage is instantaneous.

Correct Answer: B

QUESTION 4

Which two statements are true about an Oracle Cloud Infrastructure (OCI) virtual cloud network (VCN)? (Choose two.)
A. To delete a VCN, its subnets must contain no resources.

B. A VCN can have multiple CIDR blocks associated with it.

C. In regions with multiple Availability Domains (AD), each AD should have their own VCN assigned to it.

D. If you own a block of public IPs, you can assign it to one of your VCNSs.

E. A VCN covers a single, contiguous IPv4 CIDR block of your choice.

Correct Answer: AE

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Network/Tasks/managingVCNs.htm

QUESTION 5

Which statement Is true about Data Guard implementation in Oracle Cloud Infrastructure (OCI) bare metal and virtual
machine database systems?

A. Primary and standby databases must be in the same OCI region.
B. Both database systems must be in the same compartment.

C. Database systems need not be the same shape type (e.g, primary database can be a virtual machine, and standby
database a bare metal shape, and vice versa).

D. Primary and standby database versions and editions need not be Identical.
Correct Answer: B

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Database/Tasks/exausingdataguard.htm
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